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J1 &0 At 24,150,827 20,037,838 4,112,989
RS & F=0I=RAAY 15,298,918 14,388,918 910,000
AT XIS XHE AL HIAFY (2 & XIS XHR A HIAR) 15,298,918 14,388,918 910,000
A 2L ObMEH MEH2H XA 2,611,169 2,101,169 510,000
401 AlEHI L 2] 2,611,169 2,101,169 510,000
01 Al&ZHI 2,541,640 2,031,640 510,000
OS24 OrM5H MEI2Y X4 804,841 294,841 510,000
AHE 22 HE2 T4 200,000 200,000 0
401 Al HI LY 200,000 200,000 0
01 Al&HI 0 200,000 200,000
OMAE B2 HEZ X4 222 0 200,000 200,000
02 22/l 200,000 0 200,000
OMAE 22 MER X4 222Y 200,000 0 200,000
DUFINE XM 400,000 0 400,000
401 AlEHI L 2] 400,000 0 400,000
01 Al&ZHI 400,000 0 400,000
OY&EAHR| =XHE =4 400,000 0 400,000
WEEX 5 L USHE X 1,905,909 1,852,920 52,989
WEIH L ATMSS XNA(AERGTEALAA) 1,905,909 1,852,920 52,989
wsJ|2 K& 999,173 1,000,000 N827
308 XFXISHHISOI& 999,173 1,000,000 N827
08 I 2SR R 999,173 1,000,000 N827
O0i2 J0| XA 2 499,173 500,000 N827
St =3y X2 130,369 129,542 827
301 LetEAZ 2,100 3,000 A900
14 JIEtE A= 2,100 3,000 A900

OF - NS& 0 AlQM n=H X (225
) 300,000 7 2,100 3,000 2900
308 XIXISHHISOIA 128,269 126,542 1,727
08 WEIZHMHBE X 128,269 126,542 1,727

OF - NS0 AlQM n=H X (2LE
) 314,000 +817 2 +50% 128,269 126,542 1,727
oflb bl 52,989 0 52,989
801 OilHIH 52,989 0 52,989
01 LBHoiiHIH] 52,989 0 52,989
OoldlHI 52,989 0 52,989
THRES (D2 0] AtA) 3,866,000 716,000 3,150,000
HEHHKI S (BRI E KA MA) 3,866,000 716,000 3,150,000
JIEHIH &E2 3,866,000 716,000 3,150,000
02 II2EE2 3,866,000 716,000 3,150,000
01 JI2=2 3,866,000 716,000 3,150,000
OSALEI| 2 HES(FURAAY) 3,150,000 0 3,150,000




